{5x+2y=—6

-2x-y=2
19. Which of the following is equivalent to

13. What is the solution to the system of 7+4x<3(2x-6)?
equations shown above?
A F(=2522) A 6x<-10
B (2,2 B 13<10x
G2 () C 25<2x
D (2,2 :
sk D 25>2x

4, What is the reciprocal of %‘23 ?

3. Which of the following is equivalent to c?
3(p+3)-2(y+5)=8? A BT
- 2
A 3y+9-2y-10=8 B _3%
B 3y+3-2y+10=8 3b
C 3y+3-2y+5=8 C 2
D 3y+9-2y-5=8 3b
-
5. Simplify. 10_ 3
x (x+2
2x% - 8x% + 10x A
2x 20. Which of the following is equivalent to the
: ?
A x3 —6x + 5x equation shown above?
B x*-6x2+8 A x(x+2)=30
3 -
CeinXC = X+ 10(r +2) = 3x
D 4x5-16x3 +20x2

B
C 10x=3(x+2)
D 13=x+(x+2)
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